JTSSE SAMPLE QUESTIONS PAPER &ANSWERS, CLASS -1V |

GROUP A
SCHOLASTIC APTITUDE TEST : t*if3 eiaeie! Srer!
Total Marks : 40 57942 80
Each question carries One Mark : 2if$t5! 21 31t > 799

fa@@« SCIENCE
1. SR (@Y oM el T 2

I
I I
I I
I I
I I
I I
I I
I I
I I
I I
: Which of the following substances is partially transparent? :
I a) Y Air b)FIb Glass I
c) 98 oloured Glass 2 ransparent Water
| ) TG 5 Coloured Gl d) GG 21 Transparent Water |
: 2. (elAiZE @R — :
| What is Granite? I
a) (AR adimentary Roc 2 gneous Roc
| ) (o713 et Sadi Rock  b) S el I Rock |
c) s N etamorphic Roc L8 «12Y none of above
: sirafie iz M hic Rock d) <5 fab :
| 3. (R NEe fE g I
| What is the season in the Month of Jeth and Ahar? |
: a) 3 Monsoon b) *[92  Autumn :
| ¢) ®®  Winter d) S Summer I
| 4. IYE TG SRZINE AR (i1 e 76 *ife @it e |
: What is the energy that an object receives for a new position? :
| a) (@gfe =& Electrical Energy b) 5f *f& Kinetic Energy I
| ¢) *I91"% *If& Physical Energy ~ d) 2f©*if& Potential Energy |
: 5. oo Pl BTEE vy Risite @) T AL ? :
I I
I I
I I
I I

Which of the following plant foods does not accumulate in the roots?

a) e Carrot b) ©lwl  Ginger
c) K6  Beetroot d) 31 Radish



What happens when the overy changes—
a) #[919199 Pollen b) &6 Seed
c) “r® Leaves d) T Fruit
7. fort Rwiseiq Tofrr gt —
Here is the way to spread the Sesma—
a) Joicz b T2 M
The wind blows the seeds away
b) T (SIEE G =R am
Fruit spills when cracked hard
¢) =N @ vata b
Animals carry the seeds away
d) #IR cires @6 e am
The seeds are drowned in the current of water
8. ST (I TEHa #{11 (S= (ofial = 2
Which of the following plants does not produce 0il?
a) gl Brahmi b) Wﬂﬁﬁ Sunflower
c) Gepig  Olive d) 9wy Nut
9. O (IR FHCSIG] 2l 2
Which of'the following is an omnivore?
a) 9%  Cow b) k2 Lion
c) 9  Dog d) 2! Elephant
10. b1 A AfER e 2
Which birds don’t know how to build nests?

a) ool Avadavat b) e Koel
¢) (GItFAl Baya weaver d) #lfPRI Tailor bird



1. =919 & ©12512 S SCa11 SR SN ozl 63 2
Which part of the body controls the functions of all the parts?
a) Zmi#l¢  Heart b) IFL Kidney

c) ¥alg Brain d) 2% Stomach
12. TIEI TS .........51 BT U A |

Adult have permanent teeth.
a) 2001 20 b) 0! 32
c) Q9B 23 d) 89 4G 727 None of these

13. G- fNers R @R zm—

What is sugar called in a sugar-water mixture?

a) @i Solute b) @<t  Solvent
c) @I  Solution d) &5 Suspension
14. 22 (o1 TI—
Quinine is available—
a) ZCCHET70IT #idl b) & o
From Eucalyptus From Pine tree
c) o <1l oieg #f1 d) @ble 727
From Cinchona None of these

15. SF (FRY IANES A T2 2

Which one of the following is not a chemical fertilizer?

a) 2T b) @ =RECEG
Urea Ammonium Sulphate
¢) PN F T d) 5= (oI
Super Phosphate Cow dung

16. (FEENS {67 9] B ToA—
A festival celebrated in Kerala—

a) G TR b) (91T SR

The Onam Festival The Pongal Festival
¢) (TR RIS d) @

Paus Sankranti Baisakhi



17. S 791 A< TGRS Tles (v I |
device makes small things look bigger.

a) g b) (a) i< (c) TAIGI
Telescope (a) and (c) both

¢) ST d) Gole vz
Microspcope None of these

18. SpE JLA_) [ Mea i@ [Rare 2

Sarthebari in Assam is famous for what industry?

a) iz i b) & e
Bell-Metal Industry Pottery Industry
c) fores feim d) 75
Brass Industry Textile

19. 9 GIZSF €ba© A 22BN 2

What is the name of the planet closest to the Sun?

a) W Jupiter b) 94 Mercury
c) B&F Venus d) faq! Earth

20. 0o (IR AR (TS #AS] (o 1 =3 2
Which of the following is not made from crude oil?

a) YN{IM® Candles b) (SbfeW Vaseline
¢) (?[3’# Petrol d) p™  Limestone

5|iE|\9 MATHAMATICS
21. <2 o IiTe [T oA 22

Which number will occur in place of *?’

125, 100, 75, 50, ?, 0

a) 40 b) 35 ¢) 25 d) 15
22. (30+42) x (45+67) x (14-14)=?
a) 1 b) 72x112 ¢) 0 d) 28



23. 367 [RFIH0! Bl SIlCz ?
How many factors does 36 have?
a) 6 b) 8 c)9 d) 10
24, qNIFI I RAN A ?
Number of vertices of a cuboid is?
a) 12 b) 10 c) 8 d) 6
25. OO (! S 2
Which one is not correct?
NEDEDE R RN I AN S R
§ 8 8 710 10

10 5 6 7
26. Tl AIFHS & 32 AT 2
Which number will occur in the following empty box?
12+ ]=8
a) 6 b) 8 c) 12 d) 14
27. 12345679 x9+1="?
a) 1,111,111,101b) 111,111,111
c) 111,111,112 d) 111,101,112
28. 47x13=611, (9(F 47 x39="?
47 x13=611,then47 x39="
a) 1222 b) 1833 c) 613 d) 624
29. =2 w2b! SR AR (9P 2 F—

Sum of first ten odd numbers is—

a) 90 b) 100  c) 110 d) 120
30. 1,0, 3, 4, 2 S0 #1124 219 SNBIZOF 7k T SBI2S(F ©leT
FRAICGR (oI T —

The sum of smallest and greatest numbers form by the digits 1, 0,
3,4,21s—
a) 4444  b) 53444 ¢) 55550  d) 14,555

31. 6653 (R(FB =7



6653 seconds="?

a) 1951 50fe 53 (x¢  1h,50m, 53 sec.

b) 2951502 53 (& 2h, 50 m, 53 sec.

¢) 39%15f253 ¢ 1h,5m, 53 sec.

d) 69%150Te5¢=%  6h,50m, 5 sec.
32.30-[9—(8—4+3 +1)]2="2

a) 12 b) 14 c) 16 d) 18
33. 15 199.64 5l Siifee | B0 (9 43.83 5l 3579 72 fFoist

e | (0T Zrow Wi i Tl 2l 2

Bina has Rs. 199.64. She has bought two books of Rs. 43.83 each.
How What will remaining amount with her?

a) Rs. 155.81 b) Rs. 111.98
¢) Rs. 150.98 d) Rs.243.47

1 3
34. 753wﬁwﬁmﬁ$ﬁm 6; EGK,

1 3
What must be subtracted from 7 5 to get 6 2 ?

AL LR
35. ARTI 912 ST 41 ¢ 8 25 = 2
Fill in the blank: 8 quintal = gram.
a) 8000 b) 80000 c¢) 800000 d) 8000000
36. 2015 549 W98 129 17 O GRS 27031 ©iF #2061 GTisaiE
RREASISEESE
17th August, 2015 is Monday. Then the date of next Monday will be—
a) 18-08-2015 b) 24-10-2015
c) 23-08-2015 d) 24-08-2015
37. 10+ 11+ 12+ ... ... ... +50="?
a) 1275 b) 1230 c) 1250 d) 1257



38. e (ofReEr AN 1.20 5 | 10.80 TS (20 (o{f2est (oAl A= 2 |
Price of one pencil is Rs. 1.20. How many pencils can be bought |
with Rs. 10.80. |

I

I

I

: a) 12 b) 10 ¢) 9 d) 8

| 39 12791 183 G200 7k O 1] wides 2

| What is the lowest common multiple of 12 and 18?
| a) 6 b) 12 c) 18 d) 36

| 40. 95135 oif=T 24 (2 T BRI TI—
I

I

I

I

I

I

I

I

Ifthe perimeter of a square is 24 cm then its area will be—
a) 6 cm? b) 12cm? c¢) 24cm?  d) 36 cm?

GROUP - B
MENTAL ABILITY TEST : Wi AW srers
Total Marks : 30, 3 7799 2 wo
Each question carries one mark : 2S5 exlg it > 799

I
I
I
I
I
I
I
I
I
I
I
I
I
I
| ﬁtﬁ*ﬁn OoT 414572 24 GBIt (X9l ol Sz | fKies TeeaieE of|l :
|2r®§ffiawmwﬁcmﬁamwrm%mm| |
| Direction : In each of the questions 4145, a series is given with one |
I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

| term missing. Choose the correct alternative given below that will complete

I the series.

| 4.C E GILB, _

I a) L b)J ¢) K d M
| 2.7z, X, v, T, _

: a) R b) S c) P d) Q
| 43- AP, BQ, CR, DS, __

| a) FT b) GH ¢) EU d) ET
| 44. 3,7, 11,15,

| 218 b) 19 c) 17 4 20
: 45. 50, 100, 150, 200,

| 8250 b) 300 ) 350 d 0



| ﬁwm 46-507% 2%PTES 2fSTH BIRBICS 2 @itz | 3T 2L Yo |
| NEnS 2] =] (<17 VOIS Siercs] A1 | 76 <bi 2 512 g ez 5 |

| o1 e D! R o it R o |
| Direction : In questions 4650, there are four terms in each question. |
| The relationship that exists between the first two also exists between the |
| 1ast two. But one term is missing. The missing term is one of the four I

| alternatives given below. Find out the correct alternative for each question.
46. C:3::F:?

50. POT:TOP: : MAT : ?

I

I

I

a) 4 b) 5 ¢) 6 d) 7 |
47. 3:18: :4:9 I
a) 21 b) 22 c) 23 d) 2 :
48. FIVE:4: :SIX:? |
a) 3 b) 4 )5 d) 6 |
49. X:10: : XX:? I
a) 11 b) 1010  «¢) 20 d) 100 :

I

I

I

I

I

I

I

I

I

I

I

I

I

I

| a) MET b) TAM  ¢) AMT d) ATM

| et 2 51-557% 2o 2forbics BifRG! 7w Sice | 231 fofeib! 1 Fieer |
:a@mw|maﬁm§fwmﬁﬂmﬁﬂmw§@ﬁ@w I
| Direction: In questions 51-55, each has four terms. Three terms are alike |
| in some way while one term is different from others. Find the odd one out. |
I

I

I

I

I

I

I

I

I

I

51.a) 5 b) 7 )9 d) 10 I
52.a) 2 b) 33 ¢) 44 d) 50 :
53.2) S b) (@ c) “iet d) (S |
sky cloud water moon |

54. a) 5F b) c) el d) 91 I
eye mouth ear nose |

55. a) <96l Barpeta b) §?/@ Brahmaputra :
¢) @25 Jorhat d) ¥°fl¢  Nagaon |



56. 7 FRRAICH! SRS BITeT (FCT1 (qf 2

What is the mirror image of 7.

a) 7 b) T c) ) d L

57. R SIIRSCH! SRS BICH (IFC1gal (A 2

What is the mirror image of L ?

a) A b) R c) K d) ¥
lﬁwm 2 58-60n 205 ARSTHIS Rrgaliy e wsfr Fofe S g :
| 7<1 o 10wt 720 | ICT <51 2 T SR Bl ©® b1 2sfCise |
| o ( 2) itz | 2aicaiers oz &6 <fza v Seaearm 711 faa <1 | |

| Direction : In questions 58—60, numbers are placed in the figure on the I

| basis of some rules. One place is vacant and indicated as a question (?)
| mark. Find out the correct alternative to replace the question mark.

3 3 2
o oo
1 2 2

I
I I
I I
I I
I I
I a6 b) 18 ¢) 20 d) 32 |
: 10 10 20 :
A
| 19 1 13 7 7 3 |
| a)30 b) 40 c) 50 d) 60 |
: 5 5 6 6 10 10 :
| 60. 6 6 ? I
: 2 2 3 3 5 5 :
L b) 10 c) 48 d) 72 |

| et 2 619 5191 63712 2pTgRe [ofGitss 131l oa wI<e bwhre bl |
I 2RI 5% ((2) BRI 22 95! o RikReiR 7701 ST §o I3 SN bpl(ore I

ﬁmwmw%%@@ﬂhmmmﬂ%mmﬂ%mﬂ

|3K_@wm%$wQ<HﬂM<%M9RTmﬂl |




| Direction: In questions 61-63, there are three problem figures followed |

| by a question mark (?) for the fourth one. There exists some relationship I

| between the first two problem figures. A similar relationship should exist |
| between the third and the fourth problem figures. Find the one from the |

| answer fi gures that correctly replaces the question mark.

61. 307 5@ Problem figures

a1 bg Answer figures

/]

N

yd

N

a)

b)

c)

|

|

| .
 mm]{]]
|

| Ues bq Answer figures

. [E]0]D[E
| O/ —
| a) b) c) d)
| 62. 3P0 5@ Problem figures

I n
N MR
| e b@ Answer figures

|

| 1B |m|w
| b o 0
| 63. 1511 6@ Problem figures

| n

| AlY Ll
|

|

|

|

|

d)

| TRt 2 649 2131 66m1% 2PePTES FoGitas w1l o Wl iz =i e |

| 51 epsicaiess o ( ) wicR | 57571 oepiyes SHeTe 51 B! % Wiz |




|hmwm%ﬁaﬁwwaﬁmw%@wﬁww |

| = :

| given and a question mark (?) is put for the fourth. The problem figures |

l Direction: In questions 64—66, on the left side three problem figures are

| have some relations in their sequences. Pick the correct answer figure |
| which can replace the question mark. |
64. 3511 6@ Problem figures

AR VANVAVARE:
©eq fb@ Answer figures
N VAN

a) b) c) d)
65. 511 @ Problem figures

<

_ —_—
< — =

©eqbg Answer figures

= = = =
«— -— —
— <« ey —>
R— -—> — R—
a) b) c) d)

66. 511 6@ Problem figures

SHIESII=

e fbd Answer figures

M| O | /7
a) b) c) d)
Tt ¢ 673 711 707 2pTIRe @fSthie bifGItE e Wl =itz | sl
TSfID! {11 Felaere = 1 f3iet 261, 5 @b Rom! 31 wifslet | 92 ifsiey
Toaes! aife Sferi =tics! |

>




Direction: In questions from 67—70 given below, there are four figures |
in each question. Three figures are alike in some way while one |
figure is different from others. Find the odd figure out. I

. | S| L[N | A

a) b) c) d)

«|d]J[D|43

a) b) 5) d)

69.@@’@@

a) b) c) d)

70. | 5+5 | 7+3 | 446 | 249
a) b) c) d)

GROUP - C
GENERAL KNOWLEDGE & CURRENT AFFAIRS :
AN T AF ANETE ol 2412
Total Marks : 20 5 =799 ¢ 20
Each question carries one mark : TSB! 2T AT > 91

71. O Tl Il i beTe R te SNifEfes 2
In which year Vasco-da-Gama did come to India?
a) 98504 1349 AD b) >85v b 1498 AD
C) SE¥ b 1526 AD d) sv%as b4 1671 AD
72. 1% SdRieias 21y o1 (il 23 2

Who is known as the Father of Economics?



a) (%% Plato b) WFH Marconi

¢) 9U 2 Adam Smith  d) SINE) (W Amartya Sen
73. ‘@IfCT-3 5 TR O/ (FICH! TSI (SIS F91 SLo 2

‘COVID-19’ Pandemic is related which of the following—

a) (AR Bacteria b) ©i2dR Virus

c) (S d) 7S Ghre 72T

Fungi None of the above

74. SlReq AL W2 g 2H—

The first lady President of India is—

SERQRI b) afse! #iife
Indira Gandhi Pratibha Patil

¢) T FA d) caifal il
Meera Kumari Sonia Gandhi

75. Oiges G Kl M7 AT T2 oo |
‘National Science Day’ is celebrated in India on .
a) R® W6 23 March b) v (ARSI 28 February
) QIR 2% October  d) O EIARI 23 January
76. T TOISS S(=e 91 ALNAF| SIS 1 e (e 2
Who is the Indian women who first scaled the Mt. Everest?
a) SIS A b) Al oAl
Aarati Saha Bachendri Pal
¢) ¥ (791 RamaDevi  d) &< @71 Kiran Bedi
77. Sfera ellel StR M (It 2ol e Ffes 2
Who did first prove that plants have life?

a) b o T b) I P&
C V Raman Abdul Kalam
¢) TN 5% d) GTAIE (G

Jagadish ChandraBose =~ Edward Jenner



78. AR LTS [ OIS o1 91 (=T 2
‘Bible’ was written initially in which language?
a) &G English b)>X&¥S Sanskrit
c) @&  Hebrew d)=I"R  Arabic
79. SITSIH SIS 2T AL oI+ wiifest—

The first President of Indian National Congress was—

a) SR 9 Mahatma Gandhi
b) ¥ 5% @& Umesh Chandra Banerjee
C) YOI by I Subhash Chandra Bose

d) SIS SINGIRS 9 Raja Rammohan Roy
80. IR TFghle e & et (Pl 22 2

How the people of Arabin desert are called?

a) @24  Beduin b)gGIl Sumo

c) @il Pigmi dg=W  Bushman
81. ST AZe) Aol 2Ll S S e (2fzeT—

The first session of Assam Sahitya Sabha was held in—

a) MR Sivasagar b)2ARG! Guwahati

¢) (&9 9 Tezpur d)f%& @ Dibrugarh
82. ATANGTTS ST (o1 ?IfAiel—

The percentage of Oxygen gas in the air is—

a) 5 *9I¥ 21 per cent b)> > *[eIfH 11 per cent

c) wo *oi¥ 30 per cent d)av =9t 78 per cent
83. *IZHIGI J@e (9T EHI=ATS (i wifes 2

Who was the Commandar-in-Chief of Mugal in the battle of

Saraighat?

a) Afoe 3w b) T3 ez
Lachit Borphukan Ram Singha

¢) i Pz d) TR
Gadadhar Singha Mirjumala



84. SICZNE (Fiee T&1F Joiaet (o1 (1 2 2
Which king of the Ahoms is called ‘Burahraja’?
a) &e FiRg b) Zei Pikg
Pramatta Singha Pratap Singha
¢) ¥ Pk Rudra Singha  d) Ikl Sudangfa
85. TNWIY A (I be© FIHRES (22 ?
In which year Yandaboo Treaty was signed?
a) Sred>bTe 1857 AD b) Sty B9 1826 AD
C) StrebT® 1885AD d) >Sv58b® 1894 AD
86. P 7= (T NN W 9AeTCB] O (FIACH! SCHIT 191 SHLS 2
‘Do or die’ slogan is associated which of the following movement?
a) T SN Swadeshi movement
b) SRR BICWle  Non-cooperation movement
¢) S+ Sl S Civil disobedience movement
d) wlo e Aicwiete  Quit India movement
87. OO (FleTere SIS SIS g 61" 2fvflel 1 (R(R?
Which of following Assamese is conferred by ‘Bharat Ratna

Award’?

a) i 9ol b) T Sl TG
Jubin Garg Dr. Bhupen Hazarika

¢) geeiv qrel d) A TZZ

Bishnu Prasad Rabha Khagen Mahanta
88. (NI <M O (e TR SR 2
Mariyana Trench is situated in which of the following ocean?

a) O WGP b) SNG=AIGS 2ol



Indian Ocean Atlantic Ocean
c) Y= N5 d) =< A5
Pacific Ocean Arabin Sea
89. TG CAST CHHO TR 2 AT Zo1—
The present Chief Justice of Supreme Court of India is—

a) g 5ital b) S S| FfeTe
Ranjan Gogoti Uday Umesh Lalit

¢) ST TS d) ez varpe
Prabhakar Nayak D.Y. Chandrachud

90. ‘TTeTe TR DT (I feevietl Sfafes 2
The film ‘Village Rockstar’ is directed by—
a) SR99I9 Y=Y Angarag Mahanta
b) SN ®™ Rima Das
¢) AT %P7 Bani Das
d) 3J9eT @& Mridul Gupta
91. TEA ST AR SIS eI 2 —
The present President of Assam Sahitya Sabha is—
a) T *BFI Kuladhar Saikia
b) RFIE FrG Suryakanta Hazarika
¢) &Areife Dhrubajyoti Bora
d) #/% qSEA  Paramananda Rajbongshi
92. THR (I (S GFVT I3 *Ie] <] SR ?
Which of the following country has Single Party System?
a) 99 India b) AT Bangladesh
¢) X% England d) o= China
93. SPT 2S FCEAGTI (22—
The first College of Assam is—




a) MR TS b) o TS

Darrang College Cotton College
¢) & 7=l FceTe d) FIw FETS
B. Barooah College Kamrup College

94. SPTSE TR AR (22—
The newly appointed Governor of Assam is—
a) YR GM PG Gulab Chand Kataria
b) SFI#F GaT I YA Prof. Jagadish Mukhi
c) SIKIFA Y Radhakrishnan Mathur
d) (e, 1. el J. P. Nadda
95. OIS GFAIG TP (22—
The lone desert of India is—
a) (9@ Gobi b) R2«l Sahara
c¢) 949 Thar d) «9%< Nagpur
96. SIS SIIGIRS(H SIfK 4l T WIS e (2"—
The largest rice producing state of India is—
a) ®2@ Bihar b) WA Madhya Pradesh
¢) ¥6% Karnatak d)  =if5w=sl West Bengal
97. F5A BRI (HIc fsfiel Fearizfeet 2
Who did build the Qutab Minar?

a) <K< Babar b) Z¥% Harshabardhan
¢) I =N12aE Qutubuddin Aibak
d) ©I% &1k Bhim Singh

98. RS PO AT BTG SN 5] I (Z(Z—
Another name of third Pandav Arjun of epic Mahabharata is—

a) JCFvS Brikodar b) SBEil] Dharmaraj



c) #id  Partha d) SR Angaraj |

99. T f[eei bleTz TG a Ood (e (i iaifas oiifee 2 :
The famous scientist Charles Darwin was a citizen of which of the I
I

I

I

I

following country?
a) WW United States of America
b) T Franch c¢) X% England d) ¢#{its1 Poland
100. SSRGS ‘(B O 2L =T (FiTe FIF o] TR (a1 fisfiel 1 T2c=? |
The “Statue of Unity’ is constructed in Gujarat about which of the |
following freedom fighter? |
a) W2 9IhI Mahatma Gandhi  b) SRz (<2< Jawaharlal Nehru :
¢) YO b¥ <7 Subhas Chandra Bose

d) IE9IZ (1651 Vallabhbhai Patel

GROUP D
ENGLISH GRAMMAR : 353Gt qjiael
Total Marks : 10 E@SW i)
Each question carries One Mark : 2fSto! 241 A3 > 799

I
I
I
I
I
I
I
I
I
91. The singular form of mice is — I
A. Mices B. Mise |
I

I

I

I

I

I

I

I

I

I

I

C. Mouses D. Mouse
92. The plural form of * Ox° is-

A. Oxes B. Oxen

C. Oxess D. Oxan
93. Rajesh is senior ----- me.

A.than B. to

C.of D. from
94. His wife died ----- cancer

A.in B. from



C.of D. with

95. Shakespeare is ————than any other dramatist
A. great B. greatest
C. greater D. None
96. Nikita is ——— than Babita
A.Tall B. Tallest
C. Taller D. more tall
97. Choose the correct form of CNLEA
A.NLEAC B.CLEAN
C.LEACN D. None
98. Chose the correct form of OLGD
A.GOLD B.OLDG
C.DOLG D. None
99. The opposite of "fast’ is
A.slow B. hard
C. easy D. None
100. The opposite of “long" is
A.hard B. short
C. soft D. difficult
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